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int age=>5;

object o=age;
0=10;

age=(int)o;
object oAge=age;
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int a=5,b=10,c=15,Max=0;
Max = a>b?a:b;

Max = c<Max?c:Max;
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using System;
namespace aaa {
class Examplel {
static void Main(string[] args){
int a=5,b=4,c=6,d;
Console.WriteLine("{0}",d=a>b?(a>c?a:c):b);
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using System;
namespace aaa {
class Examplel {
static void Main(string[] args){
inti=0,a=0;
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while (i <20)
{
for (5 ;)4
if (1 % 10 == 0) break;
else i--;
H
1+=11;
a+=1i,
H
Console.WriteLine("{0}", a); }

A
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using System;
namespace aaa{
class Program{
static void Main(string[] args)
{
bytea=2,b=75;
Console.WriteLine("{0}",a"b);
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using System;

namespace aaa{

class Program{
static void Main(){

String str;
str = Console.ReadLine();
bool a = str.Equals("a");
Console.WriteLine(a. ToString());
int b = str.Length;
Console.WriteLine(b.ToString());
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using System;
namespace aaa{
class Program{
static void Main(){
int n;
n = int.Parse(Console.ReadLine());
if (n++ < 10)
Console.WriteLine("{0}", n);

else
Console.WriteLine("{0}",n--);
}
b
}
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using System;
namespace aaa{
class Examplel {
static void Main(string[] args){
int x=1,a=0,b=0;
switch(x)

{

case 0:b++;break;
case l:at++;break;
case 2:a++;b++;break;

}
Console.WriteLine("a={0},b={1}",a,b);
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using System;
namespace aaa{
class Program{
static void Main(){
imta=15,b=21, m=0;
switch (a % 3){
case 0: m++; break;

case 1: mt+;

switch (b % 2) {
case 0: m++; break;
default: m++; break;



break;

b
Console.WriteLine("{0}",m);
b
b
b
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using System;
namespace aaa{
class Program{
static void Main(){
int 1,J,s=0;
for(i=2;i<6;i++,i++){

s=1;
for(i=i;j<65j++)
s+=i;
b
Console.WriteLine("{0}",s);
b
b
b
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using System;
namespace aaa{
class Program{
static void Main(){
mti=0,s=0;
do{
if (%2==1){
i++;

continue;

H

it++;
s+=1;

} while (i< 7);

Console.WriteLine("{0}",s);

}
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